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Classify of chemical reactions

Text book,Example 2, Applications

From page 157 to 166
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Which one of the following chemical reaction

$985 Jelld (i A0 Alakl e lid)
equations represents a synthesis reaction? s Jel SRk i

Learning Outcomes Covered

2KCl {s) + 30] ® 2 KCIO]M
CsHiz g +807¢9 —» 5C0z9+ 6H:0 4
2Pb(NO§); W = 2PbO (s) + 4NO) [H)+ Oz (8)

d

2AI(NO§)\ |_,q)+ 3H)504 {aq) o g Al)(sot) 3 {og) + GHNO ${aq)

Which one of the following chemical reactic

i Al dal) e )
equations represents a synthesis reaction? ek
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2KCl &) + 30] @ 2 KCIO,\M
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2AINOL )yt 3H,S0s sy — AL(SO4)s g+ BHNO; g
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What is a reaction of a substance with oxygen and 5y b AL Lallay 81 e sila
releases energy in the form of heat and light?
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Using the reactivity series of metals, what would yield

the single replacement reaction of calcium (Ca) with

zinc nitrate Zn(NO,),?

tearning Outcomes Covered

( 21. Yes. Kis above Zn in the activity series. 2K(s)

NR, No Reaction |/ Jeli sy o

Zn(NO;); (ag) + Ca(OH); (o |

Jaanly! Jelad t:s,w :.T.;I\ L .4:.'__..
t Zn(NOy),s fueajlaldl ooy o (<

Ca i, + Zn(NO;); (agy —

21. Kls) + ZnClzlag) —

| 22. Clalg) + HFlaq) —
23. Fels) + NazPO4laq) —
24. Alls) + Pb(NO3);(aq) —

e Lasdl 508 13 L Cadaemsin Al ,-F.Jlﬂ-:" Jlamee¥) aMelas cals 13) Le a2e5
wJelanl) dhghee Adales OS] Gsdamin

ZnCl fag)

----------------------------------- S L 22. No. Clis below F in the activity series.

» Zn(s) + 2KCl(aqg)

23. No. Fe is below Na in the activity series.

3Pb(N03)2(s) » 3Pb(s) + 2ANO,) (aq)
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Calcium
Sodium
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24. Yes. Al is above Pb in the activity series. 2Al(s) +

Question Predict if the following reactions will occur and
indicate products formed.
Lis) + NaOH(aq) -

F,(9) + HCl(aq) -

Ag(s) + AIC|,(aq) -

Answer

Li(s) + NaOH(ag) -+ Nal(s) + LiOH(aq)
F.a) + 2HCl(aq) - Cl,{g) + 2HFaq)
Ag(s) + AICl(ag) - no reaction

Fe(s) + 2HCl(aq) — FeCl,(aq) + H,(g)
Fe(s) + CuSO (aq) — Cu(s) +FeSO,(aq)

WAY AW AW A

N Cl(aq) + AgNO,(aq) — N
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Ba(NO3)2(aq) + Na2C0O3laq) — BaCOsls) + 2NaNOslag)

feall sl 53 BalNO3)2(ag) + Na2C03laq) — BaCOals) + 2NaNOslag)

Ba+(ag) + 2NO3 (ag) + 2Na+lag) + CO3*~(ag) —
BaCOsls) + 2Na+(ag) + 2NO; (ag)

Bazaq) + 2NOy(aq) + 2Nashad) + CO;7-(ag) —
BaCO3(s) + 2Nastaql + 2NO kgl

Ba?+(ag) + CO3?"(ag) — BaCOxls)
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Predict whether reactiens in aqueous solutions will produce precipitate, water, or a gas Text book,Example 4, Applications , | '

4 Lo
40. chemical equation: H, S0 faq) | 2KOH(aq) —+ 2H,0(l) J
K. SO (aq); complete ionic equation: 2H'(aqg) | _?*'-'*{‘9 fﬂﬂ#*" ‘"‘J*'-‘*J’ZLE-"M‘ "*J:'-'f“ =) =L4Jh1ﬂu95“—"3'-"-;-"
+ (80) + 2kHat) + 20H (ag) — 2H,0() | 2Wetat) | I,
SOﬁaﬁ); net ionic equation: 2H'aq) | 20H {ag) L W —~—
: . P . Ls3e letenll ealls Aalegd) ¢ 55)
2H,Of)), simplified to H*(aq) + OH"(aq) — H,Of) N HCl(aq) + LioH(ag) — H20(1) + LiCl(ag)
41. chemical equation: 2HCl{aq) | Ca(OH) (aq) — 2H,0{))
| CaCl (aq); complete ionic equation: 2H'(aq) | SRR it 5ty H+(aq) + Cl-(aq) + Li+(ag) + OH-(aq) —
{ag) | Ga*aq) | 20H (ag) 2H_01) 4 whdls  H,0() + Li-(aq) + Cl-(aq)
Ga'ad] | 2e139) net iomic equation: H'(ag) |
OH(aQ) y H O{l) oo Ao angd) Caliga¥) a0l H+(aq) +%) +m) -+ OH—(HQ) —
z LilelSI) Lo ga¥) Aalagd) HZO(” +M +w
42 chemical equation: HNO (ag) + NH OH(ag) - H,O(l) 4 M ‘
NH,NO (aq) complete ionic equation: H'(ag) | NO*taq] » el “‘L‘”A'jj: H+aq) + OH-(agq) — H,0() :
b NHMaE) + OH (ag) — H,Off) + NHET) | NO;™EG) Ay alac |
net ionic equabion: H'(ag) + OH (a v H Ol A a0 i0e ¥ Walagly Alel) &dgn¥) Wsleelly &bl Dalagd) cus) :
q (aq) (aq) — H,Of) » P A R Dlaaty St 0o - FSEOU S

43. chemical equation: H,S(aq) | CalOH), (aq) — 2H,0(l) ; e BTN 150, v o s 40
{ CaSlaq); complete onic equation: 2H"(aq) | Sﬁ'fa'ﬂ') B T .p::—uls;ej"ébe?z#ws‘
| Caddfer)) + 20H (ag) — 2H.Off) + Cadifar) + Sidee). ) B L e (HCI) oy tsa sl s s 41 0505661941

net ionic equation: H'{ag) | OH(ag) —+ H. O(I} OVORTE{TISINE S NN
44. chemical equation: 2C H .COOH(aq) + Mg(OH),(aqg) — i Jolomas oboll g posadl suSs;scns (HNO3) ot 2l “““;:j; 42

Mg(C_H, COO0), (a?) ;HZZQC))O’) COﬂplete* 'gg; "él:)’"o” L) gt e L) sy pann Jslouss (HyS) el S5 0all piaos Lals .43
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equa tion: H* (dq) i OH- (aqg) -H‘O(I) pgniiel) Slgjug L) qan
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Which one of the following reactions in aqueous solution A el
What is the meaning of spectator ions? faa il ol produce gases?
Q - P S w | (< o . z " o - . e
Learning Outcomes Covared : 4% \ ubﬁy% - \JLA CoiAING DN I ? \J\L @-L’ 4:15\_\5\ ka\ C)A Ls\
The total ions in the solution of a reaction Jeladl) g'_,\_',},i - 2HI (aq) + Li2S (aq) — H2S (g) + 2Lil (aq) (
b;’ ressenee ... . » , ) . e TS T G B
 lons that do not participate in a reaction Je i) & EgRAR | g—m <l g ( 2NaOHaq) + CuCly(aq) — 2NaCliag) + Cu(OH);()
lons that produce solid precipitate from the reaction « o s ‘é:m i) Ca0g;) + COye — CaCOyyy ( s I\ 49 ;
Gl )
£ . “ e we a .8 P T R R . &m\
lons that produce gas released from the reaction W& il (@ & LaS Al <l o) 2HCIO(aq) + Ca(OH)z(aq) — 2H20() + Ca(ClO)2aq) -
What is the net ionic equation for the following reaction?
4 ¢ Dl Je @t 48 pal) 4 o) Adalaad) , Ala CaClijaq +2NaOH g —» 2NaCl (g + Ca(OH)aps 1Bk
K T el L 8l s o B 3Ly alac

Learning Outcomes Covered

' g Ayl v
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2Na*(aq) + 2Cl(aq) — 2NaCliaq)

R ey
 Ca*(aq) + 20H (s — Ca(OH)apy (

Ca®'(ag)+ 20H (aq)— Ca () + Oz (g + Ha g

d

Ca?*(aq)+ 2Cl (ag) + 2Na*(aq) + 20H (aq)— 2Na*(aq) + 2C"(ac) + Ca(OH) 215
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Convert of moles to number of representative particles and vice versa Text book, Applications

190, 191

cralone) Lkt Lo JSEU aglae pla 845 5 (200 e SIES NI
LI e (pa 2.50 mol L_Jﬁ aago-g_qJ' N )53 sace sas

Gma A3 6023102 s i Gma Bl (e Jga 1 S
OB x (g giag Oma Al (e Ja 2,5 JS

What is the number of atoms in a 0.645 mol
sample of argon gas (Ar)?

Avogadro's number = 6.02 x 10™

Learning Qutcomes Covired

3.88 x 10* atom

4.62x 107 atom

1.07 x 10 atom

9.33 x 10 atom

o = N X 6.02X1023=11.5 X 6.02X1022=6.92 X 10 24 S
( 5388 x 108 J\:’“Y‘ s

ot 520685 0 it = 25195 6,02 x 1023 atom = 15.05 x 102 atom

1 mol~
'.'(Ar .
} 1= 1 xA=250x6.02x10% =15.05x 10* Zn atom » Cacadll
6.02% 10 “ > \

¢ Hy,O slall e 11.5 Mol 325 sall il jall 22 cual) - 2

AgN03 diall g sie Ps sl ﬁw 2 ol sl

1.96 X 1024 dasmsans  $AGNO3 e 325 mol (b s3prsall 10505661941

naSY) bz e 5.00 MOI L3 oSt c)3 sae ‘,w.l g .4
02 65_).:\.]' L;:\Ltf\ ‘L“SJ':' (= aJL.I_". M‘yl

N X 6.02X1023=5 X 2 X 6.02X1023 = 6.02 X 10 24 xSl 3 )3

2462x 10%

5,21.07x 105

129.33x 102




8 oeadl p AL claseall (e 338 ) S pall 8 Jgas b g s

192
Convert of moles to number of representative particles and vice versa

Example1 , Applications
o ey o e 2301 Ag Lkl Gein b daddaade @ da Sob Lee S 8 o ¥sll sae oS 5
——— 5,36.02X102 5521 mol Js a.|5.75X10% | atoms Al
| RUS— 5,4 5.75X10%4 5952 N mol Js b. | 2.50X102 | atoms Fe
5| /\ \ N= 5.75X1024X1 = 9.55 mol
ol 2ol Molos Particies e\ 6.02X1023

0.24 mol U

2.40 mol

N= n
Jxﬁlm /6.02X1023\ 6.02X1023

W a o (.JJ! als 4ol =slge =l o fms_l_'l_q_l’ anall LJ;—-"B cdS s ST JEa o) P__._..u:_-.J’ A ‘-.54_--'5 .6

6. a. a molecule; 6.23 maol CO_, a. 3.75 x 1024 CO»
b. a formula unit; 0.595 mol ZnCi2

b. 3.58 x 1023 ZnCl>
Sy 2 Jha - S pas

OSalls Le juate ALS Y ¥ gal) 28 Jga)

195, 196
Convert of the number of moles to the mass of an element and vice versa

Text book,Example 2, Applications

A 27 st 5 J)gaally (a0 gpialS A4 ) ALK Ol Leo US) cmlel,mdl aliS) sas 15
/"\ 279“-‘5-‘565“‘5‘2“1‘ 1 mol JKals a. 357 mol Al

A&zm @wm& mdg “-‘Lseﬁ“m (= 3.57 mol Js b. 42.6 mol Si MY alae
: L M=NXM= 357 X27=96.39g 4kl uisb Ja iaadl PGS
Slol,adlb alis ) Gelsd) 5o ,d) B deglee &S S (Lo o2 ‘5..\.:-.: 16 0505661941
58.93 s sbuii 5 Jgudls et Co by SU A gal) ALK oelad) e ol Lgae ol

65.38 (sstati 5 Jlpully haat Zn L SUAJ,al k€Y 203> 10%eCoa g 345 x 102 mol Co

ALl 38y ylal ety Jall A5 160 eZn.b b, 245 x 1072 mol Zn




Which of the following statements are correct

related to mass and the mole? . .
¢ dasana ALK aa J gall Jay 5 AN AN Jadd) e

¢ Jally 2181

Glasad) (e i 2a2l) Laila Jgall s 920 | 1

Aalid e Ji L] Aalid g o) gal Y gall | 2

g L Ranail) 203505 J e G AESY (0 Jy gl e | 3

: el

2and 3 352
|1 and 3 341
| and 2 ( 251
1.,2and 3 33231

How many moles are in 22.0 g of CO;?
Molar mass CO2 = 44 g/mol

€ CO2 3 22.0 g ¥ sall 22¢ o

Learning Outcomss Covared

N =— =22.0= 0.50 mol

oM ot
0.60 mol
1.25 mol
2.00 mol

| 74

ALY dlac |

A daall e

0505661941




s La = alig ) o | [ St s
10 odallyla pale aLE oY gad) 20 [ Sl 5 199

Convert of the number of moles to the mass of an element and vice versa Example 5, Applications

T e sh LaS il M) das A Y gall 338 ol i ghad o Jall SASKS (e TM) puaie ciliyja ol @il ,d dae Gluad 4 D) il ghadld) & La

L glaa ALY N:% gl sae M=6.02% 102 XN ) @il axe

Y gall 232, duoa &l Al e ‘L’L’:‘)éj\ J\
How many molecules are in 60.0 g of glucose (CgH;20¢)? ?a:‘-lb-“ ‘;‘L.‘:‘JJ' L_.Jb 539:’-9-‘-” Q‘J;\J' il PS " 19
L\\nolar(;na?s Ofgl;cos:EG(gezHul(Z:z)3= 180 g/mol 694 g/m0| d}u S d\jﬁ‘“‘n" L;k’j Ll d\-’ﬁﬂ @J“m M\ a. 55.2 g Ll
T 207.2 g/mol sk 5 Jlsmdy i Pb il Sad ol <l b, 0.230 g Pb
— 200.59 g/mol b s sl Jaad Hg il SH Al A€l ¢, 115 g Hg
.83 x ) < . . P
JUNIR N TV SR .Y Y gall 23 Caal (a): dal ALY alae
9.22 x 10?%? m leé :!= :S e
______ 8 _d.illo N = — =552 =7.95 mol ' '
2.01 x 10% { M 694
= Gl e wad
5.16 x 10?3

\J l’.J W AW A 1:.()62.?(21523;3.95)(1\! 0505661941

= 4.79x102% a5l 30

S183977 %105 .2 pelad) sun,idl susd) e Jies Jioal) pund] g9 30> alieall Cilosunnd) (0 30 )] doglan 43S S ugonis 03 (giand .21
a. 456 x 103 g Si
b. 0.120 kg Ti

Ti3,3151 x10% b



Which of the following does NOT describe the mole? Yembela _ Lot bee U5 Ak 2“—:‘" s
d}d‘&&y‘é‘guwéi Bi 1,3 6.02 x 10 .a
Learning Outcomes Covered Mn Q'Ji 1-00 = 1024 -b
He 1,3 3.40 x 1022 _¢
N ~.,3 1.50 x 10> _d
J U =, 1.50 x 105 _e
A unit used to count particles directly ( NT N,
5_ila cilageall bl 3as g AN Cm=N X MY sall 22e 502X 1023 <l Al aae
b: ................................................................................................................. -
 Avogadro’s number of molecules of a compound ) i \ .
S e il jad g ala g8l aae i ALK sy Y gall 230 Crnd
: l Bi = 208.98 g/mol ( d ) J=)
The number of atoms in exactly 12 g of pure C-12 i 1 . .
QY}J\ QS (uay
Hapla )Y (b Basagadl Gl cld s N= n - 6.02 X102 =10 mol
; 6.02X10%°  g.02X1023
T?e S| :ase unit used to measure the amount S S Cons Ay alac
of a substance ) L : M |
Bl 23S () Al B2 g m=N X M = 10 X 208.98 = 2089.8 g aall e
A ) e il (385 Al 661 1
m=2.09 X 103 g 0505 94

e sds Cc sb J~akhada
1 ) i
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Identify the mole relationships shown by a chemical formula Example &, Applications 202,209 dSA.A d;
..\:-.:_m.} u—l—” (L) di.a.m FHQ.‘: uﬁ ﬁ..\:-u_u.u (ZnCIZ) LJ-‘-@_)IQ‘-” ..\.1)9.'5 .29 l :e:S \|
280 mol ZnCl. b Cl7 bl el e RN E Lol
2.50 X (ZnCl,) = 1X 2.5 mol Zn: J=1 R
A8UAl Vjamo oylael (CgH204) 5554l le blgsdly culblod) agss .30 ol
125 mOI C6H1206 Uj Pur- Wi LJS QY_.;.Q dAc u_..u_s-‘ u
=1.25X12=15 mol H
Ay alae
= 1.25X6=7.5m0l 0O SA s e

ias ddee 9 Blo) pasaus [Fex(SO04)3] wpusd) (H1) syusd) sy .S .31
o 3.00 Mol 8 8352g0d) by n S gyl ¥g0 sae sas 3Ll

Fex(S04)3 10505661941

3X[Fe,(SO,),]= 3X2=6 mol Fe - Jall

= 3X3=9 mol SO, . . .




Jldl) 8 Al sl JiS) daa AdaaSle

34 : ool S0 JSI Ads ) AlzSH sas 34
NaOH = 23 + 16 + 1 = 40 g/mol a. NaoH b. CacCl, = ke bt
cogtn g SR Adaed) AlzSH) sao .
CaCl2 = 40 + 35.5 X2 =111 g/mol - o chSl e o oo
KC,H;0, =39 + 12X2 + 1X3 +16X2 = 98 g/mol e g e Sy o} e aSa ALS 13) Lerh Sale S cain geiads 36
O DO P
agy Hlall uan 4all Jad) ddaadla a. Sr(NO3)» b. (NH4)3PO4 C. (CipH- 00

46.07 g/mol.a .35

What is the molar mass for the compound C;HsOH ?

2703 g/mol.b ¢ C2HS50H S jal & gl A1) & L
< HYDR,OG = Periodic Table
153.81 g/mol.C 04 h
o Elements 1- 18
211.64 g/mol ¢ ).s\ S ».a.36 I.ITH;UM BeRVLLM } sov;oru CARGBON ‘ moea | oxv:s
149.10 g/mol ¢j & i S J,o m

342.30 g/mol =3 S ».C

MY alac

\ : 34.0 g/mol i
12x2 +1X5 + 16 + 1 = 46.0 g/mol v 4 0505661941

050566 L ==
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Convert the number of moles to the mass of a compound and vice versa Example 6,7 , Applications

Jiloadl 3 Al gl JISI) Lt A e |
319g .37 e

) E8leasS Bake & (e 28T S s e (HpSOQ) cli S aes (o 28 25LeS)) cileboal) qas .37

5 Qg .38 $H,S04 0 3.25 Mol abls s Lo

UZNCl3) o slsd) 3551 0 4.35 X 1072 mol aks ,» L .38

lalzdls S ,od) oo 2,55 MOl 2LS Cousl @ cpoaslipd) Soliio e 23LeSI dinall (aS) gdand .39

403g ¢KMnO, .39 37 sl
3.05 (H2S04 ) = 3.25 (1X2 + 32 + 16X4 ) = 318.5 g

wuSsa (IS ng sgmoed) ¥sedl sac s> .40
a. 226 g AgNClg b. 650 g Zn504 c. 35.0 g HCI
0.133 mol.a .40 u—'J-'-" .J--ﬂ.r‘-" I“I“""“"""’I" ‘_|_,|_,|_,_| o e u-&r U'”
| a. 2.50 kg Fe,0; b. 25.4 mg PbCl, 0505661941
0.0403 mol.b A0 =

15.66 mol "d}j 441 M 43 5all ABNAGNO, = 108 +14+16X3 = 170 g/mol -

m
" .k N =— =226 =0.133 mol
72 x 10" mol ¢ sl .b M 70

ALY dlac |
AN sl ae
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Explain what is meant by the percentage composition of the compound Text book,Example 10, Applications

¢(H3PO4) il yenwsall ises caiSia) dagialliduall oale 54

$H35,0g pl HpSO5 oy oS aliS (o ,uS¥) au)) i Legsl 55

JSI AL Criimy Bagiead) Al ot (o plguast de Lo seluy ) alill Jo5eS Bls] pasas (CaCly) pscullS)) s ylS .56
CaCly oS, 3 e

olelaig)) poas 8 paasgal) Sl WS pasain g-uu" .57

S yel) aaleSN asiall CaSly pssagal) ol S DSl alial) o JS sus .8

arenlus a) dog)l (S, o2 asleS) b)) sas b

padgall Oln,S B ane J8) ALS)) ciwsu D) dcwd) i) LC

0. 6531 P 31615 H o308 54 10 Ay 0 2o cnm g i 54 > SRRV
ol gl A AR yaall 2e
HS0.55 iy
£ ' ([I¥'3) +

A \ ) 1
2\ [+(6xU) 209, "B LY A, bl

Cl oy 6389% Cagp36.10% g Lo | mERRD 0505661941

\ Lowl] ) 4 r
oPs /yJ}/J—) aatd I

NaQSOﬁLEQ}‘.?wﬂ ‘C'-.’J.S‘fﬁ%*" (.57 )}'ﬁ/jm ol bn s L= Ldod 2l 63
‘ o B = ' > ON.//jU:/vf 1;@\ L A!é)(//f/;tcgs G513
0 45055 p 8% N o 2318 (0  Siaiperal rm R




388 lo A€l punliall o il Aty

Learning Outcomes Coverad

Constant mole ratios
a8l A gall sl

Avogadro’s constant
5, ok sl s

Conservation of energy

48 Jaia
Conservation of mass l
' AR PR

What is the percent by mass of sodium (Na) in o P
sodium sulfate (Na;S04)? et T s W%

PANN| 4..1..).\.45\ 4_.\.;&.15\ ) [0
Molar mass: Gl )8 S Léﬁ &’Jﬁmﬁ"‘m
Na = 23 g/mol ¢ eﬁ.ﬁj.saj‘

Na,S0s = 119 g/mol

Learning Outcomes Coversd

ool g 1m0l g bl 25 4 2 o el il
)y

2X23 X100 =38.655 =38.7 %
119

ALY dlac |
A daall e

0505661941




Asladl) ALl i g AL A ghall Al (Lo il Al 5 Al ) el 2aa

il s 11 Ja - S i
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Determin of the empirical and molecular formulas for a compound from mass percent and

212 213 214
Text book,Example 11, Applications

Lot Al e Annad Ty oSl 25 Kl pualial) it Al Dl (a0 Al 6Y) Al

Which one of the following is the empirical formula for N,0,? ‘
ﬂigidj A Y dapall & LI Aual) (e
| NO
| N,0
NOZ( .........................
S ——— NZOS .....................................

S yall (A paic JS QY g0 220 Cuuae
JJQ};A‘JLHSJO
dasnia dlae] e J sanll Cunill Caclizate

b b0l ) s e S il il s ) ) g ) Sl il 58
SLiall sl i) gl dianll

5 /’%‘}ﬂo’#'}/&;ﬁ
7/\”21 : 3%45_‘* £2.43 mol Ay alac
A Ll ae
| 63 6- e ~
NS R
s gt ta 10505601041
PEEER
i_gﬁ :»\'5*
263 E




0 iS 64.02% 5 sl 35.98% UJ_c (§9E ‘7.5,.1 ‘L_.ng iicall sa> 59
Cro 39509 gyl (s S (ro dand (98B LS e o «bgSesad) e Gl 60 60. CH

59, ALS,

Zaall 33 5 o) 2al gl w;g\‘;wdsuﬂ&ﬂs\ 22s JM@M@ w)ﬂ\ A pall

Which statement of the following s correct concerning molecular formula? Ay el Rasalls Gl L

It is the formula with the smallest whole-number mole ratio
of the elements in a compound

Lt A g A ey L LT U ST jealia

2 | It the same as empirical formula for some compounds

L el A

i Mww-mm ; s -1

actual number of atom of each element in one

Learning Outcomes Covered

o HMS I 01 006

1 only
b
3 only
1 & 2 only

2 & 3 only (

........................................................

Jadd 1

.................................................

Sl 80 e ol g 047 G g S0 098G e g S0 B0
H=1 C=12  ipliasBlgm

ALY dlac |
AR Ll ae

0505661941
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Identy the relationships can be derived from a balanced chemical equation Example1, Applications

238,238

AlS)) dans geslny Emil) @3 wl S aliSlly a¥adlly chlecwsd) plasi sl adlal) Sgjsed) 280 SI s¥alad) 3us .1

Aaladl)

il il

ol adil
(el il
S il

OB (e (38adll
A<y Jaaa

a. Nx(g) + 3H2x(g) — 2NH3(g)
b. HCl(aq) + KOH(aq) — KCl(aq) + HO(D
c. 2Mg(s) + Ox(g) — 2MgO(s)

a. N>(g) + BH>(g) — 2NHs3(g)
kil Sle aad s g Hnel) Sle aa a3l le Jeldd,

s> (N2)+ 3 x> (H2) 2 s5» (NH3)
mol ( N2 ) + 3 mol ( H2) 2 mol (NH3 )
14X2=28¢ 3X(2X1)=6g 2X (14 +3(1))=34g
28 +6=34¢ - 34 g

J<a Ja
sLasl

Al
kel

Jadll
Lf\_d\

Ay alac
A daall e




16 Agse Aioad e [ Al gal) el S Sy gl e 239 240
Write the mole ratios from a balanced chemical equation Text book, Applications ’

In the equation below,
Which of the following mole ratio is NOT correct? Tiasaa Cued 40
4A + 3B — 2C

g jgol) 2blas)) ¥ alagll @Seal) daal) Cowsl) 2BS wyamzs gb .3
a. 4AI(s) + 30,(g) — 2Al,04(s)
b. 3Fe(s) + 4H,0() — Fe304(s) + 4H,(Q)

Learning Outcomes Covered

: ¢. 2HgO(s) — 2Hg(l) + Os(g)
9 & ke Latal) e néwan(n-1) o il dae s ddas Sl @u\
4 mol A 3(3:1)=6 (a dal eyl il
3 mol B , Smol gl 3MOl0, 2molALD,
3. a. 3mol 0, 2mod N‘,UJ amol Al

b 3 ol U',. Z2mol ALO., 4 od A .Jl_u.u;\)[\ Aac )
4 mol A 4moi Al 3molQ, 2molALD, .
2mol € b 3molFe 3molFe 3 molFe AllA J-\MM QEf=

= i ol H}U 4 mol H, Tmaol I*:EU.
4mot HO AmoiH, Tmal l-eJ(J‘

2 mol € AmoiFe Imolfe 3 mol e 0 0 661 41
HF = @M A TmolFe 0, TmolFe 0, 4mol HO

3mol B gy N i e
dmolH, 4motHO AdmolH,
s 4 mol H, 4 mot B0 4 mol H,
o 1mol Fe,0, TmolFe,0, 4molH0
: 3mol C ! - a
T : Zmol HgD TmolQ, Tmol0,
2mol B © 2molHg Z2molHg 2 mol HgO
———— )

Zmol Hg 2 med Hg 2 mol HoO
ZmolHgl Tmod O, Tmoll,




dleasl) Cllead) Gl gl (Bl Skl 5 3 g 2 e 5 il
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241,242 243 244

Apply the steps to solve stoichiometric problems Text book,Example 2,3, Applications

Aall i - |
o i S
el Jelal)
45 sa

Glarall (iKs - D
S Jaud Jaladl
Js¥I ) b
JR) (oS5 - 3

ae gl 4 gl
shudl A st
4l

Jualaall o - 4
ABle A
sl

1

obosd) 3! tsolus A d.ul.a...d.ll = b b ) ‘_,3 Joo &J! Joo e
scaSh A sy lel) asl 58 (COZ) oS weull b of b Jioz (C3Hg)
I g0 sae oS . gendl BNl ;8 COp 1 5185 A s (e aniiall (0,5l

o 8,805 &eS b CaHg 1 o Jse 10.0 3las) sae yzls] 2 (2l CO;
(C=12,H=1,0=16) JIJJ!J—"F}H‘_,—’!M}"

C Hg(g) + SOz(g) > 3C02(g) T 4H20(g)

Al T ‘\.méiﬂil
0505661@41

ALY dlac |
AR Ll ae

0505661941




2Nacs) + Cly(g) > 2NaCls)

éﬁ ;..m_s

2X(23 35.5) X1.25 il pld 5 20> Ahlpl sl Ly 4 ) ol g
X= +

”15.” )Lr. H 125 m0| J.:.l.u Aie d:-l.u' ! e L"‘dl PL!.L.” @lp ale dg,.u” (NﬁCl
X= =146¢ jl ; | i ! 2 , Cl= .‘nggﬁgaaj|a,ﬁ|3q45ymg((:|2

Y & 8

"\

2CH, g + Sy = 2CSy + 4H,Sg .11 pasiun Jolu gas ,(CS2) gsa S S (SB glo¥ couSly glied) Jelazy 11

colagle) zla) l,_:j asle

2mol CS,
Sl TR e R CHa(@) + ___Sg(s) — ___CSy(D + ___H,S(g) 5 e
150 moksyx RS _ 6 00 mol H,S . alsleall o5 @ CVEQEYERA Y
1. moksy Jeled) 3 1.50 MOl Sg plasvi) aie assld) CSy; Il w¥ss 3ae cows) b
2802( ‘|'02 ‘|'2H20 —2H SO4aq a.12 ¢L69'L'-"] p st ) e ¥go @S .C 0505661941
2 mol H,50, Ca S 0 laS] B Jelan Loase (HySO4) el , S e 0sSny (A 12
125 mols6, x ————— b o
2 moks6:; eledls ummaS¥) 20 (SO5)
=12.5mol H,50, Jelaill gjge)) ableeS) alslagd) CsS) .@
g - : 1] @iy (3 ¥ g0 dae oS .
12.5 m0L86; x 1 mol O, —625m0l0, .¢ SO, 1 oo 12.5 MOl (4 Ly=l) o ) HpSO4 ) %5 oS .b

2 mols6;

‘.'i.n_j}.U] 02 c;m'h’_g..q. LR I‘S .cC
=6.25mol O,



lalll Silileandl O glady | fadas Cliudl g 4 Jos
Apply the steps to solve stoichiometric problems Example 4 , Applications

Neta, A=1,016)

18 245

=

NH4N03(S) — Nzo(g) T 2H7O(g)

259 X9 30 325 (NHANO3) sl ol edlgl) oliaund Ly ALS o) ALSI) o gnd
(14 +4X1+1443X16) @ 2 X (2X1+16)g 1S s H0 iy Losze (N2 0D gy ) g asal ool e g el sl
. \ ‘; NHaNO3 Ll ppigall ol o0 25.0 @ el e i) H0
x_ 2X(2X1+16) X 25 @ | &
(14 +4X1+14+3X16)

N gas :(NaN3) 'ag__ia-g_.a_” J.el_; [ i {_ilJL-_..l.l_lJ d_._'alg._dJI uuLuS‘g! ‘E_n_.J' i AasSi.ngll =allelazll ._‘LJ-’ .15 s
> asslt) Np alaS saes o3 (2NaNs(s) — 2Nats) + 3Nx(g) A alac |
_)l—'-'-'-'-” L_,-L: 4—-—-—-—0J’ NaN3 ;Ij.n_t u_n: JSB " S J_}c

alzs Lo veladls cramnSH) o o)ﬁ’ s SO 250 Jelas aue . lelazl) 250 30e))
100.0 g NaN; — ? g N,(g) SF ° = ° == z2e ° Sczslal oty gatal) H§§04 0505661941

64.64 gN, .15

280 + O + EHEO{” — 2H2804f3q} 16
.3.83g H,SO0,



2KHCO3 —_—> K2003 +COZ + Hzo

100 g x mol
 mol

x— 1 X 100
2 x100
X= = 0.5 mol

How many moles of carbon dioxide CO; will be produced

if 100.0 g of potassium hydrogen carbonate KHCO3 have

decomposed?

IBAnlar Aldacr ~F VIAA. = 100 & lemall

Learming Outcormes Cowvensd

2KHCOj3 5 — K2CO3 ) + CO2g) +

1 mol

2 mol

0.25 mol

0505661941

J<a Ja
sLasl

Al
kel

Jadll
LAAJ\

ALY dlac |
AR Ll ae

0505661941
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250, 251
Determin the limiting reactant In a chemical reaction Text book,Example 4,5

s | Y

(Pg) (lnl) ymns¥) 5w insnll o Jelnil) puw Sdowgd! e lalied) (le B 5azy)

rld acuST Gusls: alie S pd) Ky s (PO e) iasugid) ¢ raley S L Ake | e LISHTS

i .P20s L_;—-ﬁ ado¥) asiios oY on.wsnl
.50.0 g O3 4 25.0 g P43 oo Jelazl) o3 Jl> 2 asgSzigll P4O1g alzs sa- ]

Chieluzl) caBes sas auzs ashal) Jelazill e 05 ot

hrall a1 oS8 Al Aagiil) b i a3 Jare JS Jal e Jeliiall S el ABS s s sl
Pa(s) + 503(g) — P4010(s) Pu(s) + 50,(g) — P40:o(s)

259 Xg mg X g 50 g
126 9 5x(2x16):9 284 ¢ 124 g 5x(2x16) g
_ 25X _5x32 w_ 124 X 50 P
124 5 x 32 el
) ( A sl ae
X= 32.3 g oS (e X= =38.8 0 stusill (e

0, s} chaaall (e Ji ALK 33 () €5 (31 s el (5l 25 g 0o ST Y G 5h 5o T
P hxall (po 5STALS 4l Al (€ pall s daaall (Sl 0505 1941

m= 284X25 P405 LS Cuas ol S | o
124 50-32.3=17.7 g

m= 57.39 o P405



Fean .8 Gl

Na .b 100.0 0 Lioasuaul 3] 6Na(s) o F9203(s) — 3NaZO(s) + 2Fe(s) a,LmJ! & g!HJI ‘_..us s
g,'a’! sas Jeladd) Jia o Fe;03 (1o 100.0 gs Na

70gFe .c sl Jeball
uasla)) Jelazd) Wb
13.6gNa .d bl clall wasdals o

elitl) JLaS) asy Gasad) aslal) Jeland) alis .d

SCOg(g} + GHEO(I} — CﬁH;gOG{aqj + GOE[E} .d rloy¥ =L.,.l|9 O, ..\_._.uSl l_,.al.a el pas) bl uj U_:g_.ajl J......,Jl t_aBLr_L‘u lo..u-..._.m “Aau .24

CO,.'. b - 9.‘4” J.u.q.l.” d_'v-La.A ‘Lo.”

< el Bgjeel) a6l SI alslad) caS) .a

H.O . asd) Jelezdl sas .b
2 L]

oadlal) Jelazd) sas €
anslal) Jelaty)) aliS sas .d

28.0g . o
595glad) e mold) AliS sas €

60.0g - S‘ jizjii
-
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Calculate of the theortical yield of a chemical reaction Text book,Example &, , Applications o
_ J 393 yall 4y gial) Al
los,S calin Loaie (AQHCrOg) L)) ) ileg,S JSis 39 seld o ggd] doaaid) | oS L iy (o B gl () (Aadl) il g
sl Sl (AgNO;) sl ol,5s o0 0500 g Le g9 st ) (K,CrOy4) o A gla
0.455 Laz)] = !Lﬂa.\ A ) dcwsd] sas Ag,CrO _l J) ¢ - :
3oy gl Akl Wlagl Addlaal) aladiuly Clbuald) cad (5 B0 3 g3 yal)
i il iyl ol 2AgNOs(aq) + KZCrO4(aq — Ag,CrO4(s) + 2KN03(aq) g gpad
0.500 g g?

2X169.9 g 331.7 g IR EO] Kanbocd P10

‘_g)h.d\ de)-d\

SN 250 =331.7X05  _ 488 . 2.0 (s B 3935l LS 13) 294 sal &y pial) dpeadl) La A
2X 169.9 ' 1.8 mol (2l 3345 mol [N
A daall e
: . . Af \
398 all 4 gial) dpdll = ] ] x 100 Agall gl 4padl) B8 i . 100 505661941
g S 4934l s A 393 yal
J}JJ‘M‘L’}‘A\M\_0455X1OO — 93 2%, A C
ro " )
0.488 il sl bt = 5 100

agaall Lgiadl dudll = 90 %



Wslad dbgemd) Slslas 8 ssle pasiuwy (AOH)3) psiad¥) siuSy urn .28
(T amad) e Jelaad) gz (HCD sasd) jaes
14.0 g wass o) AICOH)5(s) + 3HCI(aq) — AICls(ag) + 3H,0(D)

2 + I — Znlo 29 AICI; ) o (g5baall 393,a0) 30> aingasnll 33lns wal, 31 8 AICOH); ¢y
1.912 mol ? . _ HCI o ol ,3¥) Jelon Losie axls) g i)
1 In + 1y = Znly (Gll) (oS5 Jelis o3 5] o m o) Jeliss .29
mol 319.2¢ eas) 5 1912 Mol plasial @ Yl 3 g baall 353,0)) ol .2
kil a5 54l = 319.2X 1.912 _6103 ¢ ol e 5156 g e Llee Jgasdl o3 13) 393 el Dagied) dewsd) sl WD
,u::a 3l '
. .
syl dgd il = T 100 o o .
é_)B.U\ 393 54l

353 yall 45 53l Ll = 515.6 X 100 _ 84.48 o, 050566 1 94 1 Ay alae)
610.3 AlA daall ae

23.9 g }BA].C]Q_! I..S_,“L:"'lll J}J;U 28 - . ]

ACUu(NO3)2) () Lulonad) =) 2 Jolonag dunal) ol ol
Jelisld wassal aslo Sl a5t sl e

CU{SI"‘ZAgNOgqu —')ZAgt_ﬂ"'CLl(NOg,)gmqj .d 30 L_.";J‘b"'” Jg.JJ.qJ’ t_n_..u:-! tu.ulstu_” BT 200 g Lgasiw) ﬁ'! .b

-1 | O

Ggidd) drwdd) 33> (Jeloil) o dnal) o 60.0 g Llee Jgasdl @5 13) L€
88.2% J}J_J.L'I .C Jelatd) Jaig) ags 1

84.48% L_;_;:L«.u Znl, Oy S{Ja.ii.'l 3_93;“ s .b

68.0gAg .b
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Convert of moles to number of representative particles and vice versa Text book, Applications , dSJA dﬁ
aleedd) clal) Gle JSEU polae pla fSis 0 (ZN) o l5) s .1 PN
LN paie fva 290 mol 2 aago-g_q_” N )53 sace sas 2
Cma a3 3 6.02x1023 @ siag Cma JAl e Jga 1 JS =Ll
Oma A 83 x5 (e Al (e Jga 2,5 JS g3
= 25mo5 6,02 x 1023 atom = 15.05 x 1023 atom 2023

o 1 mol~
x = nxA=2.50><6.02><1023=15.05x10232natom m\
!

¢ HyO sladl o 11.5 MOl 335 sall iy jall dae ) = 2
n= N X 6.02X1023 = 11.5 X 6.02X1023 = 6.92 X 10 24

Ay alac

daal) Sladls o as) delio 3 (AGNO3) daill cl,as pusis .3 [EERERRE
AgNO3 iscnll Glasg sae = J.sg..a_‘_l' (.».)lﬁl uﬁ d.a_\o._._m.a.” dalis )
1.96 X 1024 4xpasns SAgNO; (o 3.25 MOl 3 539254

e SY) Silos> e 5.00 MOl L8 s S¥) )3 sae Cws ) (gdond L4
.02 65‘)_.\.” él—j ‘Lﬁﬁ = 5)'.3.& ‘JHHASS”

n=N X 6.02X1023=5 X 2 X 6.02X1023 = 6.02 X 10 24 (a1 3,
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Convert of moles to number of representative particles and vice versa

Example1 , Applications

192

dae
n <

Y g s
N

6.02X10%

N= n

aJda Q‘:?J,;La.odﬁgﬁn;dg.aﬁaupﬁs

3,06.02X10%% g~ 1 mol & a.
3,305.75X10%* ss>= N mol JS p,

N= 5.75X10%4X1 = 9.55 mol

5.75X1024 | atoms Al
3_50)(1 020 |atoms Fe

A4 Hlall ity b Ja AdaaSla

el s e pale ALS ) o pall 20 g

iy 2 Jia - ) al

Convert of the number of moles to the mass of an element and vice versa

Text book,Example 2, Applications

195, 196

FAKN|
m

) 3
N

Al sall
M

‘m&

Eslolyadls A8 ) Golal) saostll 2 daslas 2068 US st b (g .16

27 ssbui 5 I pudly (aad o gl W AT gall AN 5 gy L L oo S cnlel odls aliSI) sas .15

27 g4l asid¥l e 1 mol 8
M g 4liS a s2ial¥) 30 3.57 mol &
m=N X M = 3.57 X 27 = 96.39 g

58.93 (s s 5 Jlpulls axs GO cilly o<1 Al yal) ALY allall

65.38 sl 5 sl axi Zn Cll S A gll) 1K)

Al 2y el Cuity Ja) A2

203x10°gCo.a g. 345 X 102 mol Co
160¢7n b B- 2.45 X 1072 mol Zn

a. 3.57 mol Al

b. 42.6 mol Si
agy Hhall i p s ddasdle

el Lgpe addls

ALY dlac |
A daall e




ofall g e puate AL o sall 2 Jsal iy § e

199
Convert of the number of moles to the mass of an element and vice versa Example 5, Applications dSJ,-Q dﬁ
Tl sa sh LaS Cil A aae a5 e gal) a0 quuad (ighd o Jal) SAIS ¢ BUal) paie @il ) 330 cibaad A DU il ghadll & La c‘%ﬁ\
m 23 4 . |
. . e N ol sae M=6.02x 102 x N ) <l Al aae 4
daslae LS | N = Y gal il
Y gall 220 i <l Al dae Casd

Jadll
Lé_\m\

Ca el hliaall L8 3352ged) i)l sae oS .19
6.94 /MOl (5505 5 Jlpulls St Ll SUAL,I S g, 552 g Li
207.2 g/mol ¢sstud 5 Jisully aas Pb il SUAJ N AN b 0.230 g Pb
200.59 g/mol sk 5 Jlsally e Hg b ssadsall sl ¢, 11.5 g Hg

QY}J\JAQL._\»A}(a): Jall
m

N =— =552 =7.95 mol
M 504
il HAll dae Cus
n==6.02x 1023 x N

n=6.02 X 1023 X 7.95
= 4.79x10%4 ejﬁz;d 5

ALY alac |
A daall e

aa bl jév c s b Ja4daadla




Tolelardl Gl Lo JS aliS a Lo .20
Bi ‘;-,—IJ_:. 6.02 < 1024

Mn ~,3 1.00 x 1024

He 1,3 3.40 x 1022

N 1,5 1.50 x 10"

U 1,3 1.50 x 107>

N= n .
6.02x7023 = A 2ae

Q00D

ALY Cm=N X MY gall 22e

M\M QY}J\ Ade Lt

Bi=208.98 gmol (@ ): Jad

Y gall 2o Cras

N=_n =6.02 X 10?4 =10 mol
6.02X10%°  g.02X1028

ALY ns RSN

m=N XM =10 X 208.98 =2089.8 0 |iuaumus
P WA PRI ! PRENv
m=2.09 X 103 g

e sds Cc sb Jdaddasd
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Identify the mole relationships shown by a chemical formula Example &, Applications

2. 50 mol ZﬂClz uﬁ Cl_ c_1|.1_9.1' c_s'Z’_g.o dAc u_m_":-' La.g.n_u.» Cp o _la.u.l
250 X (ZnCl,) =2.5mol zn  : Ja)
5 mol CI-

A8UAl Vjamo oylael (CgH204) 5554l le blgsdly culblod) agss .30
125 mOI C6H1206 Uj P W LJS QY_.;.Q d2dAc u_..u_s-‘

1.25 ( CeH,,04 ) =1.25 X6 = 7.5 mol C gy
=1.25X12 =15 mol H 289
= 1.25X6=7.5mol O s sadl s
s ddec B bl pasuus [Fe2(SO4)3] wyusd) (1) syusd) w05 .31
o 3.00 Mol 8 asgmgell colny SN mabigsl =¥ g0 sae sas .alll
) .Fez(SO4)3
3X[Fe,(S0O,);]= 3X2=6 mol Fe - Jdall

= 3X3=9 mol SO, . . .




cesnes) LS, e IS Gulg 0t Al oo 3 d&"z’ d;

a. NaOH b. CacCl> c. KC>H30> L]
e S e S Adgll) ALSI) s .35 =
& CoEaOE b. HCN c. CCl, —aall
i) @3 o) S0 al oie S ,e —olS 13) Lexd sale S crin (gaoed 36 \.:d
y i ool Lealzs il
a. SIr(NO3)> b. (NH4)3PO, . ot 2023
46.07 g/mol.A.35 Jilsall 8 4 gl JiS1 _ars ddaa e d—*‘:ﬂ\
27.03 g/mol.b " 34 : ) Ry
2 8ot NaOH =23 + 16 + 1 = 40 g/mol
153.81 g/mol.C CaCl2 = 40 + 35.5 X2 =111 g/mol
KC,H50, = 39 + 12X2 + 1X3 +16X2 = 98 g/mol [ERIEN

211.64 g/mol ¢ ol S ,».2.36 SEGEO
149.10 g/mol ¢ 511 <5 ,o..b

342.30 g/mol ¢ L - &S 0 .C
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Convert the number of moles to the mass of a compound and vice versa Example 6,7 , Applications

Jiloadl (3 A sl JII) Lt e |
319g .37 gz-clad

) E8leasS Bake & (e 28T S s e (HpSOQ) cli S aes (o 28 25LeS)) cileboal) qas .37

5 Qg .38 $H,S04 0 3.25 Mol abls s Lo

UZNCl3) o slsd) 3551 0 4.35 X 1072 mol aks ,» L .38
slalyadls S ,el) o 2,55 MOI 2LS (s ) @ cppraliod) Sslivis o 2ilerS) dicall caS) gdand .39

403g ¢KMnO, .39 37 sl
3.05 (H2S04 ) = 3.25 (1X2 + 32 + 16X4 ) = 318.5 g

wuSsa (IS L;j sgmoed) ¥sedl sac s> .40

a. 22.6 g AgNO; b. 6.50 g ZnSO,4 c. 35.0 g HCI
dagls ) alzsl) b @33 (iS,0 pl 5 CaSie syliaels LIl LS, g JS Laie (gl 41
0.133 mol.a .40 = o re u—'J-'-" el alasaul cbbls) ge e *—';:-4 i3]
a. 2.50 kg Fe,04 b. 25.4 mg PbCl,
0.0403 mol.b 40 - JaJl
15.66mol ¢ 5] .a .41 M sl ESIAGNO, = 108 +14+16X3 = 170 g/mol -
= Ay alae)

m
" .k N =— =226 =0.133 mol
72 x 10" mol ¢ sl .b M 70

AN sl ae
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Explain what is meant by the percentage composition of the compound Text book,Example 10, Applications 3

== ¢Sl
" .-l i . S

¢(H3PO4) il yenwsall ises caiSia) dagialliduall oale 54 R
$H35,0g pl HpSO5 oy oS aliS (o ,uS¥) au)) i Legsl 55 )

JSI AL Criimy Bagiead) Al ot (o plguast de Lo seluy ) alill Jo5eS Bls] pasas (CaCly) pscullS)) s ylS .56

CaCly oS, 3 e

olelaig)) poas 8 paasgal) Sl WS pasain g-uu" .57

S yel) aaleSN asiall CaSly pssagal) ol S DSl alial) o JS sus .8

arenlus a) dog)l (S, o2 asleS) b)) sas b

padgall Oln,S B ane J8) ALS)) ciwsu D) dcwd) i) LC

@u\

0. 6531 P 31615 H o308 54 10 Ay 0 2o cnm g i 54 > SRRV
ol gl A AR yaall 2e
HS0,.55 s

£ ' ([I¥'3) +

3\ [+ (6xl) 209, ' ar b
Cl &»63.89% .Cao,o36.11% 6 C hEas

2 7*1’/:4
J { | L | = | LD I D) = £
rk)"',@/ //\JJV‘J—) 5_//,,{/“ 44///4)\ b =2 /I )/ . 5 A HoH- o —— ”

ZE
. » ‘_ ot
NaZSQl SW\ ‘C'-.’J.S‘fj-.’.%*" (a.57 et ool e %S\ Vil L =1 ¢3¢

045055 8 o 2S84 Na e 03T (b et S ta gl (S e oot L
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212,213 214

Text book,Example 11, lications
Determin of the empirical and molecular formulas for a compound from mass percent and P App

e 44l po Ansi Janasly (€ 5all 23 Sl pualinll a8 ) Arnall o At Y diaa
" 2 pual Lo audie
dasnia dael e J gpanll Cuill Cacliaie

oo Lo sl a3l clds g oSl aged) dcanlly aud slud) I estall bl ol 58
Slall sl 1ig) adg¥) dseall

s sk | DY 27 "$ 3727 SF PN
Cf)x‘a?;;”‘“&,))/),‘_n. = AT 26,844 + 2. 42 ol
P | N | «

4 5

o:—))‘}\a/\)/)yd’ — % e 6,36‘|6.: 3 95MGP

[N T P2 e ) e el e B 0
1 =l.48=2 2 .43 | ST
| P 5 L a7 a LD B 12
2 Ssp= =% 5‘//:;44\;@?_, &

ALY dlac |
A daall e




il nall BN

dapall 3as s ol aal gl o s jall A yaie JS @A ladll daall sanidana o RIS
% —aall
JeR|

o =S el adael) AlS ol Lile ourgsanl) 0 10.47 G 5 (100,80 (0 49.98 G e coiow S0 .62
c-= 12 H=1 ado yd) dseal) sas 58.12 g/mol

Jadll
@LJ\

Ay alac
AR Ll ae




